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Answer Key 
 

1. (A or C) 
2. (A) 
3. (A) 
4. (C) 
5. (C) 
6. (AD) 
7. (ABCD) 
8. (BC) 
9. (A) 
10. (ACD) 
11. (AD) 
12. (AB) 
13. (AB) 
14. (ABD) 
15. (CD) 
16. (8.00) 
17. (6.00) 
18. (5.00) 
19. (5.00) 
20. (1.00) 
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                TOPIC: LIQUID SOLUTION     
 

Solution 
 
21. (B) 
 
22. (D) 
 
23. (D) 
 
24. (B) 
 
25. (C) 
 
26. (ABD) 

 o o
0 A A B B

2 6
P X P X P 300 500 450 mm of Hg.

8 8
        

 Now, 0 S

0

P P 450 420 1
RLVP

P 450 15

 
    

 Also, 
ln

RLVP
ln N

    
 

 

32i
1 70

32i15 8
70




 

   i 1.25 1 2 1      . 

 So, 0.25   (or 25%) 

 
Cl

n   produced 
25 32 4

100 70 35
    

 
2PbCln  precipitated 

1 4 2

2 35 35
    

 
27. (BC) 
 After sufficient time osmotic pressure of all solution will becomes same. 
 As T is same i.e. molar concentration should be same, for this ratio of volume should be the same as 

that of ratio moles. 

  3Urea : KCl : AlCl  

          20 m moles                    30 m moles                     40 m moles  
 Total volume (300 ml) should be divides in 2 : 3 : 4 
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 urea

2 200
V 300 ml

9 3
    

 KCl

3
V 300 100 ml

9
    

 
3AlCl

4 400
V 300 ml

9 3
    

 
28. (ABC) 

 
 f f f

solvent

g.wt 1000
T m K K

M.M g. wt
       

 
2.25 1000

0.256 5.12
M.M 250

    

 M.M. 180 g mol  

 
 b b b

solvent

g.wt 1000 2.25 1000
T m K K 2.53 0.1265

M.M g. wt 180 250
           

 B.P. of solution = 353.3 + 0.1265 = 353.425 K 

 B
Bo

solvent A B

2.25
nV.P. 180X 0.00388

2.25 250P n n
180 78


   

 
 

 
29. (ABC) 
 Explanation :  
 (A) P and concetration should not be very high. 
 (B) T should not be very low. 
 (C) Gases do not change its molecular state are less soluble. (neither dissociate nor associate) 

  3 2 4NH H O NH OH    

  3 2 4NH H O NH OH     

 (D) It is correct statement  
 
30. (BD) 
 Number of particle from K4[Fe(CN)6] = 5 
 Number of particle from FeSO4(NH4)2 SO4 . 6H2O = 5  
 Number of particle from KCl . MgCl2 . 8H2O = 5  
 
31. (ABC) 

  P 20 6 18 6 1
... 1

20 M 180 M 10


     

  P 20.02 6 185 6 1
... 2

20.02 M 198 M 11


     

 From (1) and (2) calculating gives M = 54 gm/mole 
    P = 20.22 torr  
 & on dilution P  decreases (lowering) so vapour pressure of solution increases. 
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32. (ACD) 

  o o
A A B Bx P x P 700 ... 1   

  o o o o
A A B B A Bx P x P 0.30P 0.70P 600 ... 2      

 If moles of A and B initially are x & y then  

       2 1
x 0.75 x y 0.30 x y ... 3

3 3
       

 & A

x
x

x y



 or  B

y
x ... 4

x y



 

 Solving gives  

 A Bx 0.6, x 0.4,   

 o o
A B

2500
P torr & P 500 torr

3
   

 
33. (BCD) 
 
34. (BC) 
 
35. (AD) 
 
36. (1.00) 
 
37. (4.00) 
 
38. (7.00) 
 
39. (2.00) 
 
40. (4.00) 
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TOPIC: VECTORS, 3-D 
��

�6�R�O�X�W�L�R�Q��
  
41.  (A)  

 a (b c) 0�6 �u �u � 
�G �G �G

 

 �Ÿ Vectors are linearly dependent  
 
42. (A) 

 �^ �` 2b. c (b c) (b.b)(c.c) (b.c)�u �u � ��
�G �G �G �G �G �G �G �G �G �G

  

 
43. (A) 

 (a b) b (a.b)b (b.b)a�u �u � ��
�G �G �G �G �G �G �G �G �G

 

 �Ÿ (a.b)b (a b) b a� �u �u ��
�G �G �G �G �G �G �G

 

 �^ �`u a (a b) b a� �� �u �u ��
�G �G �G �G �G �G

 = b (a b) b v�u �u � �u
�G �G �G �G �G

 

 �Ÿ 0| u | | b || v | sin90� 
�G �G �G

  

 �Ÿ | u | | v |� 
�G �G

 

 
44. (C) 

 r.a 0�6 � 
�G �G

 

 r.a [a b c]� 
�G �G �G �G �G

�A  

 r.b m[a b c]� 
�G �G �G �G �G

 

 r.c n[a b c]� 
�G �G �G �G �G

 

 ( m n)[a b c] 0�� �� � 
�G �G �G

�A  

 m n 0�� �� � �A   �� ��[a b c] 2 0� �z
�G �G �G

�'  

 
45. (B) 

 Given that 2 2 2 1�O �P �Q�� �� �  

 2 2 2 2
x y z�' � �' �� �' �� �'  

 = 2
2 2 22 2 2

1 p 1 p 1 p

2 lm 2 mn 2 nl

�§ �· �§ �· �§ �·
�' � �� ���¨ �¸ �¨ �¸ �¨ �¸

�© �¹ �© �¹ �© �¹ 

 

2
2 2 2

2

�S
�O �P �Q

�O�P�Q
�Ÿ �' � �� ��  
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